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Morphology

1. A specimen stained by Ozheshko method contains rod-like microorganisms stained blue with round terminal components stained red. What are these components called?


A. Flagella.
B. Cilia.
C. Mesosomes.
D. Capsules.

E. Spores.

2. A patient has a suspected pneumonia. In his sputum there were revealed grampositive diplococci, prolonged with the slightly pointed opposite ends. What microorganisms are revealed in the sputum?

A. Streptococcus pneumoniae. 
B. Staphylococcus aureus.

C. Neisseria gonorrhoeae. 

D. Klebsiella pneumoniae. 

E. Neisseria meningitides.

3. Fresh smears of vesicular fluid, blood, and lymph node of patient with a characteristic gelatinous edema and localized ulcer on the skin were stained with methylene blue and examined for the characteristic square-ended, blue streptobacilli surrounded by a capsule. Which of the following bacterium was revealed?

A. Bacillus anthracis.

B. Brucella abortus.

C. Yersinia pestis.


D. Klebsiella pneumoniae.
E. Clostridium tetani.

4. During the staining of sputum smear of a patient with suspected croupous pneumonia the following reactives and stainers were used: gentian violet solution, Lugol's solution, 96° spiritus and water fuchsin. What method of staining is used in this case?

A. Romanovsky. 

B. Loeffler.

C. Ziehl-Neelsen. 

D. Neisser.


E. Gram.

5. Spherical forms of bacteria arranged as grape-like clusters were detected in pus from the abscesses. Which of the following morphological forms of bacteria were detected?
А. Tetrad. 

В. Diplococcus. 

С. Micrococcus. 

D. Streptococcus. 
Е. Staphylococcus.
6. Coccus-shaped bacteria were isolated from the nasopharynx of a boy that suffered from chronic tonsillitis. In the smear they occurred in chains. What kind of bacteria are they?
А. Streptococcus.

В. Staphylococcus. 
С. Diplococcus.

D. Sarcina.


Е. Tetrad.
7. Various Neisseria are frequent inhabitants of the upper respiratory tract, mainly the pharynx. Neisseria meningitidis, an important cause of bacterial meningitis, can colonize as well, until the host can develop active immunity against the pathogen. Which of the following arrangement have these bacteria?

A. Staphylococcus.
B. Streptococcus.

C. Diplococcus.

D. Tetrad.


E. Sarcina.

8. Gram-negative bean-shaped diplococcus inside and outside of leucocytes were detected on bacteriological examination of the purulent exudates from the cervix of the uterus. Name the causative agent of purulent inflammation of the cervix of the uterus.

A. Neisseria gonorrhoeae. 
B. Chlamidia trachomatis.       

C. Escherichia coli. 
D. Staphylococcus aureus.     E. Trichomonas vaginalis.

9. Patient with diarrhea was admitted to the infection unit. Gram-negative curved rod-like bacteria were founded on bacterioscopic examination of faecal masses. What is the most likely disease in this patient?

A. Intestinal form of plague. 

В. Diphtheria. 
С. Typhoid fever. 


D.Cholera.


E. Salmonellosis gastroenteritis
10. During the bacteriological tests of the purulent secreta from urethra there were found bacteria, which according to Gram were negatively staining, looked like coffee beans. The etiological agent of what disease are these microorganisms?

A. Syphilis.

B. Melioidosis. 

C. Chancroid. 

D. Gonorrhoea. 
E. Venereal lymphogranulomatosis.
11. In the micropreparation made from patient’s regional lymph node punctate and stained according to Romanovsky-Giemsa method, the doctor found out thin microorganisms with 12-14 equal ringlets and pale-pink sharp pointes 10-13 mkm in length. The pathogen of what disease is it about?


A. Syphilis.



B. Leptospirosis.

C. Leishmaniasis.

D. Surra (Trypanosomiasis).
E. Relapsing fever.

12. On bacteriological examination of the blood of a patient there were revealed thin spiral bacteria with several turns stained after Romanovsky-Gimza in blue-purple color. What microorganism can it be?

A. Leptospira icterohemorragiae.
B. Treponema pallidum.

C. Borrelia recurrentis. 

D. Treponema denticola.


E. Treponema pertenue.
13. On bacteriological examination of the blood of a patient there were revealed tightly coiled, thin spirochaetes with fine spirals, end of the organism is bent forming a hook stained with silver impregnation (after Morosov) in black color. What microorganism can it be?

A. Borrelia dutoni.

B. Treponema pallidum.

C. Borrelia recurrentis. 
D. Treponema denticola.
E. Leptospira interrogans.

14. A man died from an acute infectious disease accompanied by fever, jaundice, haemorrhagic rash on the slin and mucous membranes as well as by acute renal insufficiency. Histological examination of renal tissue (stained by Romanovsky-Giemsa method) revealed some convoluted bacteria looking like C and S letters. What bacteria were revealed?


A. Campilobacteria.
B. Spirilla.

C. Leptospira.


D. Borrelia.


E. Treponema.

15. Slime, blood and protozoa 30-200 microns of lengths have been revealed in a man’s feces. The body is covered with cilia and has correct oval form with a little bit narrowed forward and wide round shaped back end. On the forward end a mouth is visible. In cytoplasm there are two nucleuses and two short vacuoles. For whom are the described attributes typical?


A. Lamblia.

B. Trichomonas.

C. Balantidium.


D. Intestinal amoeba.

E. Dysenteric amoeba.

16. A duodenal content smear of a patient with indigestion contains protosoa 10-18 mcm large. They have piriform bodies, 4 pairs of filaments, two symmetrically located nuclei in the broadened part of body. What kind of the lowest organisms is it?


A. Intestinal ameba.
B. Lamblia.

C. Dysentery ameba.

D. Trichomonas.

E. Balantidium.

17. Patients with similar complaints applied to the doctor: weakness, pain in the intestines, disorder of GIT. Examination of the faeces revealed that one patient with four nucleus cysts should be hospitalized immediately. For what protozoa are such cysts typical?

A. Trichomonas.

B. Dysenteric amoeba. 
C. Вalantidium.

D. Intestinal amoeba. 
E. Lamblia.

18. A patient has symptoms of inflammation of urogenital tracts. Examination of a vaginal smear revealed big monocellular, pear-shaped organisms with the pointed spike at the posterior end of body, big nucleus and undulating membrane. What protozoa were found in the smear?


A. Trichomonas vaginalis.

B. Trichomonas buccalis.


C. Trypanosoma gambiense.

D. Lamblia intestinalis.


E. Trichomonas hominis.

19. A lymph node punctuate of a patient with suspected protozoal disease was examined. Examination of the stained specimen (Romanovsky’s stain) revealed some crescent bodies with pointed end, blue cytoplasm and red nucleus. What protozoan were revealed in the smears?


A. Dermotropic leishmania.
B. Toxoplasma.


C. Viscerotropic leishmania.
D. Trypanosomes.
      E. Malarial plasmodiums.

20. A gynaecologist was examining a patient and revealed symptoms of genital tract inflammation. A smear from vagina contains pyriform protozoa with a spine, flagella at their front; there is also an undulating membrane. What disease can be suspected?


A. Urogenital trichomoniasis.

B. Toxoplasmosis.

C. Lambliosis.


D. Intestinal trichomoniasis.

E. Balantidiasis.

21. Oval-shaped microorganism has been revealed in a man’s ulcer. The smear was stained after Romanosky-Giemza, the cytoplasm and the kinetoplast were stained red. On the nutrient medium this agent showed spindle shape and flagellum. Which of the following protozoa has such morphological characters?

А. Plasmodium malariae.
В. Leishmania tropica.

С. Toxoplasma gondii.
D. Trichomonas vaginalis.
Е. Giardia lamblia.

22. A recently hired laboratory technologist forgets the iodine-fixation step while performing a Gram’s stain of Staphylococcus. The most likely result is that the organisms would

A. Appear pink.
B. Appear blue.
C. Be colorless.  D. Wash off the slide.   E. Lyse.

23. When a diameter of endospore is more then diameter of bacterial cell, a spore-forming microorganism is called:

A. A staphylococcus.

B. A bacillus.
C. A clostridium.

D. A vibrio.


E. A spirochete.

24. Bacillus anthracis is able to produce:

A. Spores a diameter of which is more then diameter of bacterial cells.

B. Spores a diameter of which is equal to diameter of bacterial cells.

C. Both of above.

D. Spores a diameter of which is less then diameter of bacterial cells.

E. None of above.

25. Which of the following methods is used to detect a capsule in the smear prepared from pure culture of bacteria?

A. Staining with methylene blue.
B. Staining with carbol fuchsin.

C. Ziehl-Neelsen’ stain.
D. Gram’s stain.
E. Burry-Gins’ stain.

26. Capsule is best demonstrated by:


A. Simple method.

B. Negative stain with Indian ink.

C. Silver impregnation method.

D. Differential method.


E. Romanovsky-Gimsa’s method. 

27. Systemic amebiasis with involvement of intestines, liver, lungs was diagnosed in a 52-year-old patient. Which of the following characters has the causative agent of this disease?

A. Trophozoite has an ameboid appearance with a single nucleus.

B. Cysts are spherical with a refractile wall and 1 to 4 nuclei.

C. Trophozite has the fine granular endoplasm.

D. Trophozoite can ingest erythrocytes.
E. All of the above.

28. Stain blood smear was examined to confirm the diagnosis of malaria in a patient. Which of the following methods of staining was used?

А. Burri’s stain.
В. Loeffler’s stain.

С. Giemsa’s stain.

D. Gram’s attain.
Е. Gansen’s stain.

29. The difference between Gram positive and Gram negative bacteria is shown to reside in the:

A. Cell wall.

B. Nucleus.
C. Cell membrane.

D. Mesosomes.

E. Flagella.

30. Which of the following microorganisms is the causative agent of nongonococcal urethritis?

А. Giardia lamblia. 
В. Chlamydia trachomatis types L1-3

С. Chlamydia trachomatis types D-K.

D. Mycoplasma pneumoniae.

Е. Chlamydia psittacci.

Physiology

1. The sterile Petri dishes and pipettes are necessary to prepare for microbiological tests in bacteriological laboratory. What way of sterilization should be applied in this case?
A. Dry-heat sterilization.

B. Boiling.

C. Tyndallization.
D. Pasteurization.


E. Steam sterilization in autoclave.

2. On bacteriological examination of the defecation of a 4-months-old baby with the symptoms of acute bowel infection there were revealed red colonies spread in the large quantity in the Endo medium. What microorganism can it be?

A. Shigellа.

B. Staphylococcus. 

C. Escherichia. 

D. Salmonella. 
E. Streptococcus.

3. S. aureus was isolated from the draining neck wound of a hospitalized patient. Which of the following is indicator medium to show haemolytic properties of S. aureus:


A. Blood agar.

B. Meat pepton agar.
C. Meat pepton broth.


D. Egg yolk agar.

E. Serum agar.

4. On bacteriological study of rinsing water of the patient with food poisoning, the pure bacterial culture was inoculated with the following properties: gram-negative motile bacillus in the Endo environment grows like achromatic colony. Representative of what genus has caused the illness?

A. Citrobacter.

B. Yersinia.

C. Salmonella.

D. Shigella.

E. Escherichia.

5. Bacteriological examination of the patient with food poisoning required inoculation of a pure culture of bacteria with the following properties: gram-negative movable bacillus that grows in the Endo’s medium in form of colourless colonies. A representative of which species caused this disease?

A. Citrobacter.

B. Yersinia.

C. Salmonella.

D. Shigella.

E. Escherichia.

6. On bacteriological examination of the sputum of a patient with the wound infection there were revealed colonies spread in the large quantity in the blood medium surrounding by zones of haemolysis, arranged in grape-like clusters. What microorganism can it be?

A. Shigellа.


B. Staphylococcus.

C. Escherichia. 

D. Salmonella. 

E. Streptococcus.
7. Blood of a patient with presumptive sepsis was inoculated into sugar broth. There appeared bottom sediment. Repeated inoculation into blood agar caused growth of small transparent round colonies surrounded by hemolysis zone. Examination of a smear from the sediment revealed Gram-positive cocci in form of long chains. What microorganisms are present in blood of this patient?


A. Micrococci.
B. Staphylococci.
 C. Streptococci.


D. Sarcina.

E. Tetracocci.
8. Which of the following media has agents, which inhibit the growth of one group of organisms while permitting the growth of another:


A. Selective media.

B. Differential media.


C. Enrichment media.

D. Transport media.
E. None of the above.

9. Which of the following media contains additives that cause an observable color change in the medium when a particular chemical reaction occurs:


A. Selective media.

B. Differential media.


C. Enrichment media.

D. Transport media.
E. None of the above.

10 What is a culture in which all organisms are descendants of the same organism?


A. Mixed culture.

B. Broth culture.
C. Pure culture.


D. Inoculum.

E. None of the above.

11. Which of the following is termed as a visible mass organisms growing on an agar surface and usually originating from a single organism?


A. Stab culture.
B. Mixed culture.
C. Broth culture.


D. Colony.

E. All of the above.

12. Scheme of isolation of pure bacterial culture contains of the following stapes, except:


A. Obtaining of the isolated colony by streak plate method.


B. Studying of the isolated colony.


C. Transferring of the isolated colony on a slant agar.


D. Incubation of the pure culture with enzymes.


E. Identification of the pure bacterial culture.

13. Which of the following media do microbiologists use to detect carbohydrates fermentation?


A. Endo agar, Ressel agar, Hissa medium, Levin agar.


B. MPB, MPA.




C. Blood agar, serum agar.


D. Pepton basic broth, peptone basic agar.

E. Bile broth.

14. On bacteriological examination isolated pure bacterial culture is seeded into Hiss media. Which of the following properties of bacteria are tested?

А. Protein hydrolysis.
В. Carbohydrates fermentation.
С. Morphological.

D. Serological.

Е. Catalase activity.

15. Differential medium Endo’s agar is used to isolation of pure culture of Enterobacteria. Which of the following carbohydrates does this medium contain?

А. Glucose.

В. Lactose.

С. Маltose.

D. Маnnitol.
Е. Sucrose.

16. Which of the following medium is available for cultivation of anaerobes?


A. Endo agar.


B. Kitt-Tarozzi medium.

C. Mac Conkey agar.

D. Meat peptone agar.

E. Bile broth.

17. Obligate anaerobes undergo lethal oxidations due to lack of the enzymes:

A. Superoxide dismutase, catalase, peroxidase.

B. Protease, carbohydrase, lipase.

C. Hemolysin, lecithinase.

D. All of the above.



E. None of the above.

18. Which of the following bacteria belong to obligate anaerobes?


A. M. tuberculosis, Brucella.

B. Clostridium, Treponema, Veilonella.


C. E.coli, S.aureus, S.pneumoniae.
D. Leptospira, Helicobacter

E. Peptococcus, Peptostreptococcus.

19. Which of the following bacteria belong to facultative anaerobes?


A. M. tuberculosis, Brucella.

B. Clostridium, Treponema, Veilonella.


C. E.coli, S.aureus, S.pneumoniae.

D. Leptospira, Helicobacter

E. V.cholerae, N.gonoreeheae.

20. Several techniques are available for maintaining an oxygen-free environment during the processing of specimens for anaerobic culture. Which of the following apparatus is used in this purpose?

А. Petri dish.


В. Krotov’s apparatus.

С. Аnaerobic jar.

D. Koch’s apparatus.

Е. Теrmostat. 

Infection

1. A patient recovered from Sonne dysentery and was once more infected with the same causative agent. What is such infection form called?


A. Reinfection.
B. Persisting infection.
C. Superinfection. 


D. Recidivation. 
E. Chronic infection.

2. A doctor made the diagnosis of gonorrhoea. It was known from the anamnesis that a patient had had gonorrhoea before and he had been treated completely. What type of infection can this new disease be attributed to?

A. Secondary infection. 

B. Superinfection.
C. Autoinfection.

D. Reinfection. 


E. Relapse.
3. This factor of natural resistance is a heat stable protein which present in tear liquid, breast milk, saliva, and fresh egg. What is it termed?
А. Lysozyme.
В. Complement.
С. Interferon.

D. Interleukin.
Е. Gamma-globulin.

4. Septicaemia is:


A. Presence of bacteria in blood.
B. Toxin in blood.


C. Pus in blood.



D. Multiplication of bacteria in blood.


E. Presence of viruses in blood.

5. Bacteriaemia is seen in:


A. Salmonella infection.

B. Shigella infection.


C. Cholera.


D. All of the above.
E. None of the above.

6. Lowering of virulence of bacteria is known as:



A. Pathogenicity.

B. Attenuation.


C. Exaltation.

D. Toxigenicity.
E. Communicability.

7. Diphtheria is an example of:


A. Bacteraemia.

B. Pyaemia.


C. Septicemia.

D. Toxaemia.
E. None of the above.

8. The capsule of the following is involved in the pathogenicity:


A. Neisseria meningitides.
B. Bacillus anthracis.


C. Klebsiella pneumoniae.
D. Streptococcus pyogenes.


E. All of the above.

9. The ability of a microorganism to cause disease in another organism, namely the host for it, is termed as: 


A. Pathogenicity.

B. Toxigenicity.

C. Mutualism.


D. Parasitism.

E. Resistance.

10. Bacteria, which cause a disease in a compromised host, which typically would not occur in a healthy (noncompromised) host, are acting as 


A. Parasites.

B. Obligate pathogens.
C. Opportunistic pathogens.


D. All of the above.
E. None of the above.

Immunology

1. In a patient with clinical signs of immunodeficiency the number and functional activity of T and B lymphocytes are not changed. Defect with dysfunction of antigenpresentation to the immunocompetent cells was found during investigation on the molecule level. Defect of what cells is the most probable?

A. 0-lymphocytes.

B.Fibroblasts, T-lymphocytes, B-lymphocytes.

C. T-lymphocytes, B-lymphocytes.
D. NK-cells. E. Macrophages, monocytes.

2. Live vaccine is injected into the human body. Increasing activity of what cells of connective tissue can be expected?

A. Adipocytes and adventitious cells. 
B. Macrophages and fibroblasts. 

C. Fibroblasts and labrocytes. 

D. Plasmocytes and lymphocytes. 

E. Pigmentocytes and pericytes.

3. A 27- year-old woman has dropped penicillin containing eye drops. In few minutes she felt itching, burning of her body, there appeared lips and eye-lids edemata, arterial pressure began to drop. What immunoglobulins took part in the development of this allergic reaction?

A. IgM and IgG. 
B. IgM and IgD. 
C. IgA and IgM. 

D. IgG and IgD. 
E. IgE and IgG.

4. The person was selling "homemade pork" sausages on the market. State sanitary inspector suspected falcification of the sausages. With help of what serological immune reaction can food substance be identified?

A. Complement fixation test. 
B. Agglutination test.


C. Precipitation test.

D. Immunofluorescence test.

E. Indirect hemagglutination test.

5. Donor skin transplantation was performed to a patient with extensive burns. On the 8-th day the graft became swollen and change colour; on the 11-th day graft rejection started. What cells take part in this process?


A. Basophils.

B. Erythrocytes.
C. T-lymphocytes.

D. B-lymphocytes.
E. Eosinophils.

6. A patient visited a dentist with copmlants of rednedd and edema of his mouth mucouus membrane in a month after dental prosthesis. The patient was diagnosed with allergic stomatitis. What type of allergic reaction by Gell and Cumbs underlies this disease?


A. Anaphylactic.

B. Delayed type hypersensitivity.
C. Stimulating.

D. Immunocomplex.
E. Cytotoxic.

7. A child with diphtheria 10 days after injection of antitoxic antidiphtherial serum has developed skin rash, accompanied by severe itch, rising temperature up to 38°C and joints pain. What is the cause of these symptoms?

A. Contact allergy.
B. Anaphylactic reaction. 
C. Serum sickness.

D. Delayed type of hypersensitivity. 

E. Atopia.

8. On the 8th day since the patient was inoculated with antitetanic serum because of dirty wound of his foot he has developed rising temperature up to 38°C, pains in the joints, rash and itch. The blood tests revealed leukopenia and thrombocytopenia. Allergic reaction of what type has developed in this case?

A. Delayed type of hypersensitivity. 
B. Anaphylactic.
C. Cytotoxic.

D. Immunocomplex. 


E. Stimulating.

9. A 27-year-old woman has dropped penicillin containing eye drops. In few minutes there appeared feeling of itching, burning of the skin, lips and eyelids edema, whistling cough, decreasing of the blood pressure. What antibodies take part in the development of this allergic reaction?

A. IgM and IgG. 

B. IgM and IgD. 


C. IgA and IgM. 

D. IgG and IgD. 

E. IgE and IgG.

10. A 30 year old woman has applied a lipstick with a fluorescent substance for a long time. Then she got a limited erythema and slight peeling on her lip border, later there appeared transversal striae and cracks. Special methods of microscopic examination of the affected area helped to reveal sensibilized lymphocytes and macrophages in the connective tissue; cytolysis. What type of immunological hypersensitivity was developed?


A. IV type (cellular cytotoxicity).
B. III type (immune coplex cytotocxicity).


C. II type (antibody cytotoxicity).
D. I type ( reaginic).


E. Granulomatosis.

11. In order to speed up healing of a wound of oral mucosa a patient was prescribed a drug that is a thermostable protein occurring in tears, saliva, mother’s milk as well as in a new-laid hen’s egg. It is known that this protein is a factor of natural resistance of a organism. What is it called?


A. Interleukin. 

B. Lysozyme.
 C. Imanine. 


D. Interferon. 

E. Complement.

12. A boy 1,5 years old, that has not got a vaccination against measles, got in touch with an infected man. This child was admitted the donor gammaglobulin. Which type of immunity is done by transfer of serum or gammaglobulin?
A. Passive.

В. Natural.
С. Antitoxic.

D. Active.
Е. Local.

13. A large-scale reaction with parapertusis and pertusis diagnosticums was made in order to make serological diagnostics of the whooping cough. At the bottom of the test-tubes with diagnosticum of Bordetella parapertusis a granular sediment formed. What antibodies did this reaction reveal:


A. Precipitins.

B. Agglutinins.

C. Opsonins.



D. Bacteriolysins.

E. Antitoxins.

14. In order to estimate toxigenicity of diphtheria agents obtained from patients the cultures were inoculated on Petri dish with nutrient agar on either side of a filter paper strip that was put into the centre and moistened with antidiphtheric antitoxic serum. After incubation of inoculations in agar the strip-like areas of medium turbidity were found between separate cultures and the strip of filter paper. What immunological reaction was conducted?


A. Coomb’s test.
B. Opsonization reaction.
C. Agglutination reaction.



D. Rings precipitation reaction.

E. Precipitation gel reaction.

15. To detect toxin production of causative agent of diphtheria bacteria were seeded on Petri dish with nutrient medium and serological method was used which is based on the principle that diffusion of the antibody and antigen through agar can form stable and easily observable immune complex. Which of the following tests was used?
А. Double immunodiffusion assay.

В. Ring precipitation test.
С. Agglutination test.

D. Coomb’s test.
Е. Hemagglutination test.
16. Planned mass vaccination of all newborn 5-7 days old children against tuberculosis plays an important role in tuberculosi prevention. In this case the following vaccine is applied:


A. BCG.

B. Absorbed diphtheria vaccine.


C. Diphtheria and tetanus anatoxin vaccine.


D. Diphtheria and tetanus toxoid and pertussis vaccine.

E. – 

17. Tuberculine was injected intracutaneously to the child for tuberculin test. Marked hyperemia, tissue infiltration developed on the place of injection in 24 hours. What mechanism caused these modifications?

A. Cells cytotoxity.

B. Reagin type cytotoxity.


C. Granuloma formation.
D. Immunocomplex cytotoxity.
E. Antibody cytotoxity.

18. 48 hours after performing tuberculin test (Mantoux test) to a child a 10 mm papule appeared on the spot of tuberculin introduction. What hypersensitivity mechanism underlies these changes?

A. Cellular cytotoxicity.

B. Anaphylaxy.
C. Granulomatosis.

D. Immune complex cytotoxicity.
E. Antibody-dependent cytotoxicity.

19. A 10-year-old child had the Mantoux tuberculin test administered. 48 hours later a papule up to 8 mm in diameter appeared on the site of the injection. What type of hypersensitivity reaction developed after the tuberculin injection?


A. Atopic reaction. 

B. Seroreaction.
C. Arthus phenomenon.


D. Type II hypersensitivity reaction.
        E. Type IV hypersensitivity reaction.

20. Quite often the cause of secondary immunodeficiency is an infection involvement, when the causative agents propagate directly in the cells of immune system and destroy it. The following diseases are characterized by:


A. Tuberculosis, mycobacteriosis.
B. Dysentery, cholera.


C. Poliomyelitis, type A hepatitis.
D. Infectious mononucleosis, AIDS.


E. Q-febris, epidemic typhus.

21. The patient has developed respiratory symptoms, intoxication, and throat membrane. He was diagnosed diphtheria. What treatment must be administered to him?

А. Diphtheria serum.
В. DPT.
С. BCG.
D. Diphtheria toxoid.

Е. Tetanus toxoid

22. The first immune globulin class produced in an immune response: 

A. Ig A.
B. Ig M.
C. Ig D.
D. Ig E.

E. Ig G. 

23. The type of lymphocytes is not involved in "cellular" immunity are: 

A. TH1 cells. 

B. T cytotoxic cells. 

C. Macrophages.

D. T suppressor cells.

E. B cells.

24. What type of cells produces of antibody?

A. TH2 cells. 

B. T cytotoxic cells. 

C. Macrophages.

D. T suppressor cells.

E. B cells.

25. The most common type of immune globulin in human blood plasma is:

A. IgA.

B. IgG.
C. IgM.
D. Ig E.
E. Al of the above
26. In human, the primary lymphatic organs include:

A. The thymus and the liver.

B. The spleen and the kidney.

C. The bone-marrow and the thymus.

D. The stomach and the lung.

E. The parathyroid and the thymus.

27. Salmonella as a causative agent of gastroenteritis was isolated from patient’s specimen. It should be identifies in antigenic structure. Which of the following serological reaction is to do?

A. Ring precipitation test.

B. CFT.
C. Neutralization.

D. Agglutination test.


E. Opsonization.

28. Which of the following effects takes place with the participation of components: bacterial cells, a specific antibody contained in the immune serum and a nonspecific substance of any normal and immune serum – complement:


A. Agglutination of cells.
B. Multiplication of bacteria.


C. Precipitation of cells.

D. Bacterial engulfment.
E. Bacterial lysis.

29. Which of the following significances is used to describe the phenomenon of the negative complement fixation test?

А. Presence of haemolysis in tubes.
В. Agglutination of red blood cells.

С. Sediment of red blood cells.

D. Change color of fluid.

E. Pellicle. 

30. Which of the following significances is used to describe the phenomenon of the positive complement fixation test?

А. Presence of hemolysis in tubes.
В. Agglutination of red blood cells.

С. Sediment of red blood cells.
D. Change color of fluid.

Е. Pellicle. 

31. Usually involves a bound antigen, reacted with its antibody, and detected using enzyme-labeled immunoglobulin specific for the antibody:

A. Agglutination.

B. Precipitation.
C. RIA.

D. ELISA.


E. Opsonization.

32. To diagnose hepatitis B serological reaction was used that based on interaction antigen and antibody linked with peroxidase. Which of the following of the reaction is it?

A. CFT.
B. RIA.
C. RIF.
D. ELISA.
E. Agglutination test.

33. Essential disadvantage of microscopic method is impossibility to determine the species of most of the microorganisms only on morphological characteristics. Which of the following reactions helps to increase specificity of this method?

A. RIA.
B. Coomb’s test.
C. ELISA.
D. Agglutination test.
E. IF.

34. Immunofluorescence is used in express diagnosis of bacterial and virus infections. Choose the condition, which is necessary to examine the results of test:
А. Electron microscope.
В. Fluorescence microscope.
С. Light microscope.
D. Phase-contrast microscope.
Е. Dark-field microscope.
35. Artificially acquired passive immunity is induced by:


A. Injection of gamma-globulins.
B. Placental transfer of antibodies.


C. All of the above. 
D. Injection of live vaccines.

E. Infection.

36. Which of the following reactions is a form of altered reactivity, a state of the organism’s increased sensitivity induced by repeated injection of foreign proteins (sera), antibiotics etc., which usually takes 15-30 minutes from the time of exposure to the antigen and is mediated by Ig E?



A. Antibody-dependent cytotoxicity. 

B. Delayed hypersensitivity.



C. Immune-complex-mediated hypersensitivity.



D. Anaphylaxis.




E. None of the above.

37. A boy 1,5 years old, that has not got a vaccination against measles, got in touch with an infected man. This child was admitted the donor gammaglobulin. Which type of immunity is done by transfer of serum or gammaglobulin?
A. Passive.

В. Natural.
С. Antitoxic.
D. Active.
Е. Local.
38. An example of "artificially acquired active immunity" would be:

A. Immunity developed as a result of exposure to the disease. 

B. Immunity developed as the result of an injection of antitoxin. 

C. Immunity acquired in utero. 

D. Immunity acquired by vaccination. 

E. All of the above.

39. The DTP vaccine is composed of which of the following?

A. Diphtheria toxin, tetanus toxin, heat-killed Bordetella pertussis.
B. Diphtheria toxoid, tetanus toxoid, heat-killed Pseudomonas aeruginosa.

C. Diphtheria toxoid, tetanus toxoid, heat-killed Bordetella pertussis.
D. Diphtheria toxin, tetanus toxin, heat-killed Pseudomonas aeruginosa.
E. Diphtheria toxoid, tetanus toxin, heat-killed Pseudomonas aeruginosa.
40. Which of the following preparations are live virus particles or bacterial cells that grow in the vaccine recipient but do not cause disease because the vaccine virus or bacterium has been mutated to a non-pathogenic form.



A. Attenuated vaccines.

B. Killed vaccines.



C. Sub-unit vaccines.

D. Toxoid.

E. Recombinant vaccines.

ANTIBIOTICS
1. The patient with pneumonia was treated with antibiotics for a long period. After treatment patient complains of frequent and watery stool, abdominal pain. What is the reason of intestine function disorder?
A. Bacteria toxins influence.

B. Intestinal disbacteriosis development.

C. Hereditary enzyme defect.

D. Antibiotics toxic influence on the GIT.

E. Autoimmune reaction development
2. A 7 year old child is ill with bronchitis. It is necessary to administer him an antibacterial drug. What drug of fluoroquinolone group is CONTRA-INDICATED at this age?


A. Amoxicillin.
B. Sulfadimethoxine.
C. Ampicillin.


D. Ampiox.

E. Cyprofloxacin.

3. Patient was admitted to the infection unit with diagnosis of bacterial dysentery. On laboratory studies it was revealed that causative element is sensitive to the many antimicrobial medicines, but patient has anemia. What medicine is contra-indicated to the patient?

A. Enteroseptol. 

B. Phthalazol. 

C. Levomycetin. 

D. Ampicillin. 


E. Furazolidone.

4. Patient with pneumonia has intolerance to antibiotics. Which of the combined sulfanilamide medicines should be prescribed to the patient?

A. Aethazol. 

B. Biseptol.

C. Sulfadimethoxine.
D. Streptocid.

E. Natrium sulfacyl.

5. A patient develops intestinal disbacteriosis after prolonged use of antibiotics. Which of the following drugs should be prescribed to restoration of the normal microflora:


A. Antifungal agents.

B. Sulfonamides.
C. Interferon.


D. Probiotics (eubiotics). 
E. Immunoglobulins
6. As a result durative antibiotic therapy a 37-year-old patient developed intestinal dysbacteriosis. What type of drugs should be used in order to normalize intestinal microflora?


A. Sulfanilamides. 
B. Bacteriophages.

C. Eubiotics.


D. Autovaccines.

E. Vitamines.

GENETICS

1. You are studying functioning of a bacteria operon. The operator gene has been released from the repressor gene. Immediately after this the following process will start in the cell: 


A. Translation.

B. Repression.


C. Transcription.

D. Replication.
E. Processing.
